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1.You want to deploy NetApp Cloud Volumes ONTAP In AWS using NetApp Cloud Manager.

In this scenario, which two network protocols need to be specified in the security group rules to initiate a
connection with your AWS tenant? (Choose two.)

A. LDAP

B. SSH

C. ICMP

D. HTTPS

Answer: AB

2.You are designing an automation solution that you will use across both on-premises and cloud-based
NetApp ONTAP systems. You want a single automation solution for both locations to reduce the
administrative overhead.

In this scenario, which two automation tools would you use? (Choose two.)

A. Ansible

B. Rest API

C.ARM

D. CloudFormation

Answer: B,C

3.You want to manage access to your hybrid cloud resources centrally. You want to use single sign-on
(SSO) to access your NetApp Cloud Central accounts using credentials from your corporate directory.
Which two open standards would you use to federate your identity to the company's SSO? (Choose two.)
A. Security Assertion Markup Language 2.0 (SAML)

B. Windows Active Directory (AD) authentication protocols

C. Lightweight Directory Access Protocol (LDAP)

D. OpenlID Connect (OIDC)

Answer: B,C

4.Your customer wants to migrate from an on-premises backup and recovery architecture to a public cloud
target solution.

Which two factors should be considered when designing this solution? (Choose two.)

A. recovery point objective

B. recovery time objective

C. media format

D. mean time to repair

Answer: B,C

5.You are asked to design a monitoring solution for your Cloud Volumes ONTAP environment for AWS. You
decide to enable the Monitoring service in Cloud Manager.

In this scenario, which two statements are correct? (Choose two.

A. You must configure alerts through the Cloud Insights user interface.

B. The Monitoring service displays the performance of clusters using the Active IQ page in NetApp Cloud
Manager.

C. You must have a pre-existing NetApp Cloud Insights tenant to enable the Monitoring service.

2/3



The safer , easier way to help you pass any IT exams.

D. The Monitoring service deploys a virtual machine into your VPC.
Answer: B,C
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